; *GREE COLLEGE FOR WOMEN-
TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREE € 01

- MANCHERIAL

DEPARTMENT OF COMMERCE

A O0GY
ADD ON COURSE ON RESEARCH METHODOI
ASSESSMENT TEST
Group& Year:

Name of the Student: J ! MARKS:

TIME: e S E—

——

Q1. The first step of research is:
(A) Selecting & problem

(B) Searching a problem

(C) Finding a problem

(D) Identifying a problem

Q2. To test null hypothesis, a researcher uses:
(A) t test

(B) ANOVA

€)X

(D) factorial analysis

Q3. Research is «C )
(A) Searching again and again

(B) Finding a solution to any problem

(C) Working in a scientific way to search for the truth of any problem

(D) None of the above

Q4. A null hypothesis is ()
(A) when there is no difference between the variables

(B) the same as research hypothesis

(C) subjective in nature

(D) when there is difference between the variables

Q5. Action-research is: ( )
(A) An applied research '

(B) A research carried out to solve immediate problems

(C) A longitudinal research

(D) All the above

Q6. Which one is called non-probability sampling?
(A) Cluster sampling ()

(B) Quota sampling
(C) Systematic sampling
(D) Stratified random sampling

Q7. Formulation of hypothesis ma

y NOT be i
(A) Survey method . _unired in

()
(B) Historical studies
(C) Experimental studies
(D) Normative studies
Q8. Hypothesis is
(A)Conclusion drawn from existihg from existing lite .
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What is the purpose of Research Design (|
To develop a hypothesis

)To select a sample

I (C)To determine the methods of data collection and analysis
(DAl of the above '
Q16.A Blue print of Research work is known as

(A)Sampling Design

(BIResearch Design

(C) Research hypothesis

(D) Research approach . 9
Q17.How to judge the depth of any research

(A) By research title

(B)B\ research duration

(C)By research objectives

(D)By total expenditure on research

Q18.Testing hypothesis is a ()
(A)Inferential Statistics

(B)Descriptive Statistics

(C) Data preparation

(D) Data analysis

Q19.Research conducted to find the solution for an immediate problem is ( )
(A)Fundamental research

(B)Analyvtical research

(C) Survey

(D) Action research

Q20.

is a way to systematically solve the research problem { -}

(A)Technique
(B)Operations
(C) Research Methodology

(D)Research process

Q21.Which one among the following statement is true In the context of the testing of hypothesis  (
)

(A)ltis only the alternative hypothesis tlmcmbg tested

(B)Itis only the null hypothesis that can be
(C) Both the alternative and the null hypothes
(D) Both the alternative znd the null hypothesls C
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TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREE COLLEGE FOR WOM*"
MANCHERIAL
DEPARTMENT OF FCONOMICS
ADD ON COURSE TOR THE ACADEMIC YEAR - 2019-2020

ON

BASIC CONCEPTS OF STATISTICS

TIMLE: 1 HOUR MARKS: 50

Name of the Stdent Group & Year:

COURSE CO ORDINATOR: A SUNITHA, LECTURER IN ECONOMICS -
I MULTIPLE CHOICE QUESTIONS 25X 2 =50 M

1 Non-sampling error are introduced due to technically faulty observations or during the

of data, ( )

a) Processing b) Analysis ¢) Sequencing d) Collection

2. Sampling is simply a process of learning about the on the basis of a sample drawn

from it. ()

a) Census b) Population ¢) Group d) Area

3. In statistics, classification includes data according to the time period in which the

items under consideration occurred. ()

a) Chronological b) Alphabetical ¢) Geographical d) Topological

4. A sample is a portion of the population that is considered for study and analysis. ()

a) Selected b) Total ¢) Fixed d) Random

5. The method of sampling, in which the choice of sample items depends exclusively on the
judgement of the investigator is termed as ‘ ()

a) Convenience sampling b) Quota sampling ¢) Systematic sampling 3 d) Judgement sampling

6. Both the sampling as well as the non-sampling errors must be reduced to a minimum inord «

{0 get as representative a sample of the as possible. ()
a) Group b) Region ¢) Population d) Universe

7.The rande.n variables yield categorical responses so that the responses fit into one
category or another. ()
a) Quantitative b) Discrete ¢) Continuous d) Qualitative

8.When an investigator uses the data which has already been collected by others, such data

is called ()
a) Primary data b) Collected data ¢) Processed data d) Secondary data
9. provides various types of statistical infor atlon of either qualitative or quantitative
nature. 2=t ()
a) Sampling b) Tabulation  ¢) Observ d) Editing
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10. l.n statistics, __classification groups the data according to locational differences among
the items ()

a) Chronological b) Geographical ¢) Regional d) Alphabetical

I'. 3. The magnitude of the class is the: PO ) ()
a) The p-mducl of lower limit and upper limit b) The sum of lawer limit and upper limit
¢) The difference of upper limit and lower limit d) None of these

¥ ) ) + Wi "
12. The value lying half way between the upper limit and lower limit of the
class is:

A ()
a) Class interval b) Mid point c) Frequency d) None of the abave

13. If the class mid points in a frequency distribution of age of a group of persons
are 25, 32, 39, 46. 53 and 60. The size of class interval is: ()

a) s b) 7 c)8 d)6

14. The number of observations in a particular class is called: ()

a) Width of the class b) Class mark ¢) Frequency d) None of the above

I5. A systematic arrangement of data in rows and columns is: ¢ )

a) Table b) Tabulation ¢) Body d) All the above

16. The most commonly used device of presenting business and economic data is: I
a) Pie diagrams b) Pictograms ¢) Bar diagrams d) Line diagrams
17. The mode of a rrequency distribution can be determined graphically by: ()
a) Histogram b) Frequency curve c) Frequency polygon d) Ogive

18. The median of the data: 19, 25, 59, 48, 35, 31, 30, 32, 51. If 25 is replaced by 52,

what will be the new median. ()
a) 35 b) 53 c)43 d) 45

19. Find the value of x, if the mode of the data is 25: 15, 20, 25, 18, 14, 15, 25, 15, 18,

16,20, 25, 20, %, cscviss ()
a)l5 b) 18 )25 d)20

20.The median of the observation 11, 12, 14, 18, x +4, 30, 32, 35, 41 arranged in ascending
order is 24, then x is... ()
a) 2] b) 22 c)23 d) 24

21.The median of the data 13, 15, 16, 17, 19, 20 is: ()
a) 30/2 b)31/2 c) 3372 d) 35/2

22. The method used to find the mean of a given data is (are): ()

a) direct method  b) assumedm can p deviation method  d) all the above
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23. is not a common measure of central tendency ( )
a) Mean b) Median ¢) Mode d) Range

24.____ involve methods of organizing, picturing, and summarizing information from samples

and populations ( )
a) Descriptive statistics  b) Inferential statistics c) Analytical statistics  d) none
25. The number of observations in a particular class is called as................ ( )

a) Frequency b) sample ¢) width of the class d) none of the above
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TELANGANA SOCIAL WELFARE RESIDEMTIAL DEGREE COLLEGE FOR WOMEN MANCHEPIAL

DEPARTMENT OF POLTICAL SCIEMCE
SN Yty
ADD ON COURSE :PUBLIC POLICY MAKING &POLICE AMALYSS

I.MULTIPLE CHOICE QUESTIONS.

MEPYS 54

1. Organizations that pursue the common interests of groups of peaple by attempting

to influence the making and implementation of government polic

) are knom a5
a. Political parties
b.  Interest groups
C.  Lobbyists
d.  Social movements
e. Policy communities

2. This theory assumes that governments will be influenced by various interest
a.  Rational choice theory

b. Institutionalist theory
€.  Pluralist theory

d. Social movements
e. Policy communities

3. A public interest group pursues policies that they believe will provide what to society:
a. Lowertaxes

b. Selective benefits

c.  Purposive incentives

d. Collective benefits

e

Solidary incentives

4 In order to be effective in influencing government policy, interest groups require:
. Money and expertise

a

b. Alarge number of members
c. Apermanent headquarters
d. Lawyers

e. Access to media outlets

5.
a.

State-centered theory assumes that:

Interest groups are ineffective because they generally do not have enough popular
support

b. Interest groups are effective only when they have a large number of members
C.  Interest groups are effective only when they rely on the courts

The demands of interest groups are too much of a burden on government
e

Interest groups are ineffective because the state is independent of social forces

6. An interest group with a formal structure, established membership base, and paid staff is
commonly known as a(n):

Effective interest group
Self-interest group
Special interest group
Public interest group
~ Institutionalized interest group

P ooow
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7. Which means of influencing public policy ia generally seen a5 ineflactiie try
interest groups and those who analyze them

a. Lobbying a cabinet minister

b Using the legal system

c Lobbying Members of Parliament

d  Taking their case to the public

e Lobhying central agencias

8. A network of groups and individuals that seek major social and political change
who act outside of established polilical institutions is commanty referred to 25
a. Old social movement

b. Policy community

c.  Social movement

d. Public interest group

e. New social movement

9. New social movements have increasingly relied on the following tactic to pressure

governments:

Legal challenges under the Charter of Rights and Freedoms
Affiliations with the New Democratic Party
Circulating petitions in their community

Civil disobedience
Creating interactive websites to appeal to younger people

®an o

10. The Lobbyist Act, 2008 ensures that lobbyists:
a. Are able tolobby as soon as they leave their political careers

b. Can collect contingency fees from their clients

c. File reports outlining who they are acting on behalf of
d. Register with the government if they spend more than 50% of their time lobbying

on behalf of corporations
e. Are prevented from taking leading roles in election campaigns of political parties

11. Which of the following characteristics is NOT part of Weber’s model of a functioning

~ government?
‘2. There are rules within civil society.

b. Government must employ skilled experts.
¢. Skilled experts do not necessarily have to operate within an organized hierarchy.

d. People must be treated equally.

12. During which part of the public policy cycle does the government explore potential

policy responses?

a. Agenda Setting

b. Policy Formulation

c. Policy Implementation
d. Decision- Making

13. When a relevant minister holds a news conference to announce the government'’s

intent to introduce a new policy, what is it known as?
. a. Decision-making
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b.
¢

Policy Evaluation

Policy Implementation
d. Policy C

14. Which theory stj itize -

i} Ownr}neel(?suitgs‘::;tténm s are self-interested actors whos
Economic Theory of Democracy

Managerial Theory

Rational Choice Theory

Pluralism Theory

e decisions

o0 oM

15.. Which concepts best describes Medicare governing over health services to prevent
private services from responding to public needs?

a.  Natural Monopoly

b. Elite Theory

c.  Rational Choice
d

Derived Externalities

16. Which of the following is considered to be the “Red Zone™?

a. The final 6 months of the election cycle, when the government announces popular
government initiatives

b.  The time period when the government takes steps to fix remaining policy problems
before the next elections

¢.  The time period that begins with the government’s second budget, when the

government addresses many of its election promises and initiates any tough or
potentially unpopular policies

d. When ministers receive direction from PM or premier; public servants brief
ministers on the top issues in their portfolios

17. What or who governs over the federal government’s finances and financial
decisions?

a. Public Service Act

b. Constitution Act 1867

¢. Financial Administration Act
d. Department of Finance

18. In times of a budget deficit, which of the following is more indicative of a right-wing
approach to budgeting?

a. Increasing spending

b. Increasing borrowing

€. Maintaining taxes

- d. Increasing taxes

Answer: ¢

~ 19. Which of the following is a principle of the provincial health services?
- a. Universal

b. Comprehensive

€. Accessible

d. All of the above

20.The Employment Insurance Act was at one point known as the Unemployment

R A U S B
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Insurance Act. True or False?
a. True
b. False

21. ll]di Itq gOlanlI'i n is ¢ I. .l i t co (&
(lr lllil,llr

b. Delhi
c. Lucknow
d. Agra

22. On which date Swachh Bharat Abhiyan was launched?

a. 2nd October

b. 15th August

c. 26thJaunary

d. 14MAprial

23. National Heritage City Development and Augmentation Yojana (HRIDAY) is set to be
implemented in how many cities?

a. 8

b. 10

A i |

d 12

24. Integrated Child Protection Scheme was launched in the year?
a. 2009-2010

b. 2011~

c. 2013-2014

d. 2015-2016

25. Janbhagidari Scheme is provided by which of the following State?

a. Uttar Pradesh
b. Kerala

c. Madhya Pradesh

d. Bihar
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VELANGANA SOCIAL WELEARE RESIDENTIAL DEGREE COLLEGE
(WOMEN),  MANCHERIAL

DEPARTMENT OF ENGLISI, ADD ON COURSE 201920
BASIC GRAMMAR FOR COMPETITIVE EXAMS

TIME 1 HOUR

MARKS; S0M

Name of the student:

Clusy & yenr:

Multiple Choice Questions:

1.

1o

s

7. which tense is used in the given sentence. “He will be waiting for you at the station™? ( )

a. Future simple.  B. Future perfect

She quickly ran 1o the store, Identity the adverb in the sentence. ()

a. She b. quickly ¢rn . store

The cat sat on the mat. Which word is a preposition, ()

a. Cat b. sat. ¢, on d. mat

They will arrive after the meeting. Choose appropriate pronoun. ()
a. Will b. arrive ¢. aller d. they

. How are you? Identify the type of the sentence. ()

a. Interrogative b, Assertive ¢, lmperative d. Declarative

She is not my friend. (change the sentence into positive)
a. Sheisn’t my friend.

b. She is my friend.
c. Sheisa friend
d. She is your friend.

1 have been working here for 5 years. tdentify the type of sentence. ( )

a. Present simple b. Present perfect ¢, Present perfect continuous
e. past continuous.

c. Future continuous  d. Present continuous

8. which tense is used in the sentence “They had already leflt when we arvived”?

a. Present perfect  b. past perfect  c. Future perfect

a. Present simple b, Past simple ~ c. Present perfect

d. Past simple.

9. Choose the appropriate tense used in the sentence “She visited her grandmother last
weekend”?

d. past continuous

10. Which tense is used in the given sentence I am Preparing for my exams right now™?
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simple b, Past perfecy ’
C. Preseny continuous d. Future simple

I'l. She dri
. rives a ¢g ¥ .
ar. Change the sentence into passive voice. ()
a. A car drivers | -
e s her
b. A car has driven her

C. A car is driven by her is bei i
: d. A car is being driven by her.
12. By whom i '
2. 5 / / . i :
3 has the window pane been hroken. Change the sentence into active voice
!

a. Who has been broken the window pane?
b. Who has broken the window pane?
¢. Who has been broken by the window pane?

d. who has being broken the window pane?

I3. Tam writing a book. Change the sentence into passive voice.
a. A book is being written by me.
b. A book is written by me.
c. A book is wrote by me.

d. A book is be written by me.

14. This problem by your brother yesterday. ( )

c. will be solved d. solves

a. was solved  b. is solved

15. The job by my friend next week. ( )

b. did c. will be done d. was done

a. is done

16. which word completes the sentence. “This book is interesting than the

movie”.
a. More interesting b. interesting  ¢. most interesting d. much interesting

tall than her sister.

d. very tall.

17. Choose the correct form of adjective. “She is

a. tallest b. taller c. tall
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a. fi ' {
a. funny b. most funniest

c¢. funnier d. funniest

19, whie i . ‘.
ch option correctly fills in the blank. Today is cold that yesterday.

a. cold b. 100 colder

c. colder d. coldest

20. Choose the suitable form of the

‘ adjective. Mount Everestisthe ____high mountain
in the world.

a. Higher b. Highest c. high d. most higher

Fill in the blanks with appropriate words. 5M

The new restaurant in town is known for its food. The ambience is

than any other place I have visited. Their service is one of the 1
have experienced. The chef is than many other chefs in the city, which makes every
dish special. Overall, it’s the dining experience you can have.

I. Good 2. Delicious 3. Cosy 4. Amazing 5. Talented
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2019- 20

TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREE COLLEGE FOR WOMEN

(635), MANCHERIAL, DIST: MANCHERIAL.
DEAPRTMENT OF BOTANY
EXAMINATION ON CERTIFICATE COURSE
NURSERY MANAGEMENT
MARKS:25 MARKS

NAME OF THE STUDENT:

DURATION:1 HOUR

HALL TICKET NUMBER:

COUSE/GROUP & YEAR:

I MULTIPLE CHOICE TYPE QUESTIONS:

1. For seed treatment is & sultable fungicide.

(a) Carbandzim (b} Monocrotophos  (c] copper {d) zinc

2. The soil for a nunvery should preferably be

[a) clayey b sandy {c) sandy loam {d) black

3. The nursery must be free from

(a) Water logging (b} Organic matter

|&) Fertilizer |d} Irrigamion water

LY type of nursery protects ings from weather
[a] Thatched roof [b] Shade-net
(c) Poly-tunnel {d] None of the above

5. The type of nursery bed prepared during the rainy season is

() Sunken [b] Raised e} Flat 1] Furrow

&, The soil that must be used as growing medium is

[a) Qlayey [b) Sandy loam Ic) Red soil (d) Acidic
7. Sphagnum moss is commercially used a5 2 rooting medium in

|a) Air layering (bJBudding  {c) Grafting {d] Cutting

DOrganic compound, which promotes or inhibits the growth of the plant,
Is known as

{a] PGR b} Nitragen
{e) Boron [d) Vermi Compost
9. High value annual seeds are, generally, sown

[a} By broadcasting (] In fine sowing (e} In pro-trays (d) in pots

10. The common growing medium in plug-trays is

|a) Coco peat (b} Sand I Vermiculite [d) Soil

11. Remaoval of plants from pots for planting is called
(a) Re-potting (b} De-potting

(e} Potting [d) None of the aboye

12. Application of fertilisers through irrigation water s
knownas

{a) Surface application (b) Sub-surface application

(e} Fertigation

() Top dressing
13. Is the mast commaon disease i a nursery,
(a) Powdery mildew (b} Damping-ctf
(e} Leaf spot (d) Blight
l4.Which amang these is a plant growth retardam?
Ac-Auxin B:-Giberellin
C:-Abscissic acid D:-Cytokinin
15.Chip budding is done in
A:-Rose B:-Grapes C:-Hibiscus D:-Rubber
16.Leading flower producing state
Ac-Tamilnadu Bi-Kerala Cr-Andhra Pradesh D:-Karnataka
17.\Wonder tree is
Az-Subabul B:-Neem

C:-Gulmohar  D:-Jack

18 Which among the given cities is known as Garden city?

Az-Bangalure B:-Delhi
C:-Pune D:-Chennai
19.Mulberry cultivation is referred as
Aspinieul B§ |

P e Di-Syhvicul

20.Centre of origin of rubber

Ac-india B:-China
C-Germany D:-Brazil

TSWHDC (

Nl

ol

o nat

! Dupartment of Ihidany
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TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREE COLLEGE FOR WOMEN - MANCHER|A
ADD ON COURSE- “CULTURAL HERITAGE OF INDIA”
DEPARTMENT OF
ASSESSMENT QUESTION PAPER
H.T.N.O: MARKS: 20

NAME: TIME: 30 minutes

Choose the correct answer

1. The Badami Chalukya Temples are examples of?
a. Nagara architecture
b. Vesara architecture
C. Dravidian architecture
d. Madhura architecture
2. Which of the following is most famous music style of Jharkhand?
a. Dhamsa
b. Mand
c. Mando
d. Khubak Eshei
3. Dandia is popular dance of

a. Panjab
b. Gujarat
¢. Tamilnadu
d. Maharashtra
4. Where is Pushkar Fair held?
a. Udaipur
b. Jaisalmer

C. Jodhpur

b. Jagannath

c. Shiva
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Vishny

Is classical dance form of Uttar Pradosh?
a. Kathakali

b. Kathak
C. Kuchipudi
d. Mohiniattams

7. Who composed the famous song ‘Sare Jahan SeAcha’?
a. Jaidev
b. Mohammad Igbal
c. Bankim Chandra Chattopadhyaya
d. Ravindranath Tagore
8. Which of the following states is the Hornbill festival held annually?
a. Nagaland
b. Sikkim
c. Assam
d. Bengal
9. Kuchipudi dance originated in
a. Rajasthan
b. Karnataka
c. Andhra Pradesh
d. Punjab
10. Bhagavata Mela, a folk form of performing arts Is native to:
a. Assam
b. Gujarat
c. Karnataka

d, Tamilnadu

PRINCIPAL
TGSWRDC(WJ, MANCHERIAL
Dist: Mancher -
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GENERAL SCIENCE MCQS

1.What are the unit for measuring intensity of Iight?__

‘T‘e < ncdcma

A)Candela B)Light year C)Meter D)Mole
2.Which of the following is not a system of units?
AJMKS B)SI C)CGC d)deebieal
3.The rate of the doing work is called ?
A)Force B)Acceleration C)Power D)Displacement
4. Unit of energy?
A)Force B)Acceleration C)Power D)Displacement
5.The earth’s atmosphere is hold by the ?
A)Wind B)Clouds C)Earth’s magnetic field D)Grating
6.Raindrops are spherical in shape because of ?
A)Capillary  B)Surface tension to gravity C)Downward motion
D)Acceleration
7.The friction in a flowing fluid is called ?
| A)Density  B)Surface  C)Viscosity = D)None of the above
8.With the rise of the temperature, the viscosity of liquid?
A)increases B)Decreases C)Remains unchanged

D)May be increases or decreases depending on nature of liquid

9.In the hysteresis cycle the value of H needed to the make the intensity of
magnetization zero is called ?

A)Relativity B)Coercive force C)Lorentz force D)Eddy current
10.Electric current originates from which part of an atom?

A)Nucleus  B)Entire atom acting as a unit C)Positively charged protons
D)Negatively charged e-

11.A horse —shoe magnet is an example of ?
e ————
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A)Natural magnet B)Artificial magnet

C)Neither natural nor artificial D)None

12.1f the radius of Bhor’s first orbit is ao, what is the radius of the nth orbit?
Ana, Blas/n C)n2a, D)a./n?

13.The atomic number is not changed by which type of radio achive decay?
A)Beta B)Gamma C)Alpha D)None

14.Which of the following elements is readily available in ordinary water?
A)Cesium  B)Thorium  C)Deuterium D)Astatine

15.A liquid has only

A)Shear modulus  B)Youngs modulus C)Bulk modulus

D)All of the above

16.The property of a body by virtue of which it tends to regain its original size
and shape when the applied force is removed is known as ?

A)Elasticity ~ B)Plasticity C)Viscosity  D)Rigidity

17.With propagation of longitudinal waves through a medium the quality
transmitted is ?

A)Matter B)Energy C)Energy and matter D)None

18.In which process heat absorbed or released by a system is zero?
A)lsobaric process B)Isothermic process C)Adiabatic process
D)None

19.Focallength of plane mirror is ?

A)Atinfinity B)Zero C)Negative D)Positive

20.What is the unit of current?

A)Ampere  B)Volt C)Ampere/volt D)Ampere m?

" Scanned with CamScanner



&dd oo Q'csépr

7!
N |
o

4013

e

) pris

o oo 1 [ oy e 00 o e

4022 |

<3

4022

4024

=

4023

(6%}

‘ i Mﬁ__agmm;_____:_

4033

a2 | Eosonth >
PN R
A0l | G.pavanl
I T S
golg | w.bealipand
 NLpomya

(»)

_ p.phavathl

p.ghravanf
_Qﬁeﬁif\w;_ﬁ

5.Divifa

| A0%34

| 4,%)50

it _——

e o1 gons |

S R 1
S T

T
L 4DvT
IR N ;!
=S | 40013

_ _l;___ ; A013

|

S— —" ]

B0 | K Hondas
———————— 4024 | 7. € Por
| L Aoeay

R
e R

WH

CH chandans

Shakiin Tubatee |
BSwawgaPan |

éH-Ravalika

CcH -Skmp a

D hivishy
J - Pavari _
K. Sogaitha
K.Mantchs

P80
“PAngals

———

CH-kavya |

;'%mwd

. | iy chd -
fE

"

? _-ﬁ\ rrr ia .’ 3 n., Q-_ ‘J'.-"- ;

5 ¥ - -
= . =y | = [b
e S L S 4

h.r-i,—u

Scanned with CamScanner



E S q
Iﬂ1 aro 1eoctal welPare petlonti
PM.M muﬁ o wlomen . 3331% vial

Ad 09 8518@ ; KD@QQ ,P.nﬂé?J e

| ﬁw .
m.\MNIL\.\.
4 5 Ve e
||.Iop. ?;-n. vv.w..ac - PRINCIPAL
K. Padma-Bey TSWROCY), __._anxnn AL

Hi al ?_n.u.,_....,,

g of matla ( JACtR:

4 7% ::J«:_: nﬁ::ﬂ wle Lf cve Pesiden il

:.::.‘._.\_.. _P.:._ _C_._c:n:. o _l":_:_.

N 60y (otnse -t #.q_._ﬁ.a it

V.ﬂ‘ o

t..

-lii

Q?

evdiod of thatdey .mw JASERS

gﬁm Uy

PRINCIPAL

HOD. ept o tqm: TSWRDC(W), MANCHER!AL

K- Padroa-fiy

Scanned with CamScanner



2020-202\

GE FOR WOMEN
WELFARE RESIDENTIAL DEGREE COLLE
FESSEEE socm{::‘::!s}. MANCHERIAL, DIST: MANCHERIAL.
DEPARTMENT OF BOTANY
EXAMINATION ON CERTIFICATE COURSE
ORGANIC MANURES

MARKS:25 MARKS DURATION:1 HOUR
NAME OF THE STUDENT: HALL TICKET NUMBER:
COUSE/GROUP & YEAR:

. MULTIPLE CHOICE TYPE QUESTIONS:

1. In NPK, P Stands for.........

A. Phosphorus b.Potassium c.Palladium d.Plumbum
2. Use of the earthworms in manure preparation is called...........

A. Green composting b.Dry composting

B. Vemi composting d.Worm composting

3. The family plants are used mostly for green manure...

A. Malvaceae b. Fabaceae c. Asteraceae d .Rutaceae

Decomposition of organic material forming a brown substance is called?

A. Humidification b.Desertification c.Purification d.Nitrification

5. Use of green plant tissue as manure is called?

A.Plant manure b.Green manure c.red manure d.Black manure

6. This machine helps in mixing of manure and provides oxygen to the manure...

A.Oximeter b.Areometer c.aeroftiller d.Oxygenometer

7. Phosphate Mobilizing microorganism

A.Fraturia ausintia b.E.Coli CYeast d.Spirogyra

8. Nitrogen Fixing microorganisms are
A. Rhizobium

b.Streptomyces c.Diplococcus d.Rhodospirillum

9. During organic manure Preparation,Compost must be cured for...

A 15 bays C.25 Days

10.The process through which COmpost or waste material j is transf

ormed to manure?
B. A.Composting -

D.Burning
\(irg
TSWRDC ( M%(:;nc
Department of Botany
L _ Y =
% \\
pR\NC NC" A
e I
TSV o
LT "\*t v
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Fundamentals of Tax Returns

Group :B.com(ca&gen) Time:90  Max. Marks :50 W

|. Multiple choice questions

form is applicable for an individual who has no income other than salary /pension
interest

a) ITR-5 b) ITR-2 ¢) ITR-1 d) ITR-4

2.ITR 6 is applicable for ()

a) firms b) companies c) trust d) local authorities

3. Tax deducted at sources is knownas ()

a) TDAS b) TS c) all the above d) TDS

4 e-filing is known as ()

a) electronic filing  b) electric filing ¢) electronic file d) electric file
5, form is used to pay income Tax online ()

a) challan 280 b) challan 250 ¢) challan 80 d) challan 120

6.PAN is digit alpha numaric unique number ()
a)15 b) 10 )5 d) 18

y 2 is priscribed form for application ()

a)49 b)49A c)498 d)43D

8. HUF is known as ( )

3) Hindu urban family b) Hindu urban farm ¢) Hindu undivided family d) Hindu United family
9.5chedule CG is for ()

a) capital gain income b) capital gain in ¢) Both d) none

0. Utility allows the users the option of automatically uploading the income taxrey
()
a) java b) Microsoft Excel ¢)word d) Ms PowerPoint
i
11.The CGST Act contains chapter ()

25 b2 90 d) 156
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12. Centra| GsT s levied by £

3) state government b) central government ) both  d) none
13.1GST is sum totg) of ()
2)CBST  b)SGST ) casT and SGST d) none

14..0ebit note js an invoice used for ()

a)sales  b) purchases ) sales return d) purchase return

15.8ill of supply is used for ()

a) regular supply b) exemted sales c) ) exemptrd purchases d) none
16. India's biggest tax reform has taken place by the introduction of ()

a) income tax b) property tax ¢) CGST d) all of the above

17.E.commerce dealers has to fill_______forms for monthly return ()

a) GSTR-1 b)GSTR-3 ¢)GSTR-8 d) GSTR-5
18.Form for annual returnis ()

a) GSTR-9 b) GSTR-5 ¢) GSTR-10 d) GSTR-4

19.For composition taxpayer the turnover limitis ()

a) 1crore b)SO0lakhs c) 1.5 crore d) 75 lakhs

20. form is furnished by UIN holder ( )

a) GSTR-2 b)GSTR-11 ¢) GSTR-4 d) GSTR-1

21.How many steps for uploading income tax returns online with digital signature ()
a5 b7 4  d)6
22.credit note is issued for ()
a) salesreturns  u) purchase returns  c) both  d) none
23.India follows GSTmodel ()
a)single b)dual c)triple d)none
24.1TR-4 is also known as ( )

a)sugam b) Traces c)both d)none

25.UT GST is levied on UT transactions

)inter  b)intra c)both d)none
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”” TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREE ¢, ( £GE FOR
WOMEN, MANCHERIAL

MANCHERIAL

Vﬂ

DEPARTMENT OF MATHEMATICS
CERTIFICATE COURSE: DATA INTERPRETATION

'ACADEMIC YEAR: 2021 -22
QUESTION PAPER

Answer all Questions

(1x30=30M)

1. The table shows marks scored by 10 students in science test out of 100 marks. Study the table and

answer the questions.

Students A B C D E
Marks 78 |60 |75 89 (53

i) The average marks scored by the student is

a)78.9 1b)76.4 ¢)80.2 d)72.5

ii)How many students have scored marks more than the average marks

a)5 b8 ¢)3 d)0

2. Study the given graph and solve the questions

Chart Title
10
g
6
4 |
2 |
0
60 65 70 75 20

M Serie..,

1) The total number of persons is
a)31 b)310 ¢)29 d)290
i) Find the average height

a)75.24 b)81.75 «¢)73.24 d)72.10

3. Study the graph and answer the questions

85

G [H |[I [J

199 85 10050 75

90
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50 Series 1

30

20
20

10

; Dec
July  Aug —ﬂSerl‘Ud o

i) How MamY VIEWs were recorded from August to November

D105 D135 0150 4y pone

if) The highest pereentage increase was
a) 1174%  )100% ¢)75%  d) 150%

4. The pie chart indicates the expenditure of a country on various sports doing a p amcularyq‘
chart and answer the following

SALES

B Hockey ETennis mOthers & BasketBal mGolf @ Cricket M Foot Ball

Foot Ball Hockey
»  14%

i) The ratio of the total expenditure on Foot Ball to that the expenditure on Hockey
a) 1:15 _b) I:l c)15:1 d)3:20

was [

if) The chary shows that the most popular game of the country is
a) Hockey  b) FootBall ¢) Cricker ) Tepnis
5. Gender ratio of employees

Name of the Departmen

[
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5 the tota]
' \ number of Employees working in the 1T and HR deg . A
) 1646 ¢) 1766 d) 1702

¥ the i
following table carefully and ancwer the questions that follow:

ster fees (i
ees (in Rs. Thousands) Fot Five different Conrses Tn 6 different years

vears T—--________‘_, - '_' if?!'!;“ S _.___w-j
BTech | MSe. | BFd. | M.Phil. | Diploms
2005 | s | 58 | 1S 47 18
2006 | 145 64 | 116 38 3
2007 =T | Dt | 8 15
w3 | s | 158 | &L | 36
| ooos | 3 —wg | s | Bl -
) 00 | I8. 49 __
L2010 50.7 209 | 22.:; - T course in the year 5007 as compared

. ¥ et fees Of B

1)What was the approximate percent increase in the semester fe

10 the previous vear”? .
2)26% bE0% 0%  dI6% el

ii)what was the average semester fee charges for M.Sc course over all the years together? [ ]

a)Rs.12700  b) Rs. 12600 ¢) Rs.12060 d)Rs.IEO?Oc)Rs.IJI'm

r fee charged for Diploma course over the years together

[ ]

iii) what was the difference between the total semeste
and fee charged for B.Tech course in the year 20097
a) Rs.8500  b) Rs.8000¢) Rs.6500 d)Rs.7000 ¢)None of these

iv) The semester fee charged for M.Phil course in the year 2008 was approximatcly what percentage of the

semester fee charged for M.Sc course in the year 2009? (|
2)67 b)84 ¢)80 d)76 )72
v) what was the total semester fee charged for all the courses together in the year 20067 [ ]

a)Rs.42500 b)Rs.41500 ¢)Rs.41600 d) Rs.42200 ¢) None of these

7. The Following chart represents demand and production for 5 companies A BCDE.On the basis of the graph

answer the questions.

Chart Title

4000

3000
2000
1000 I I I
: L H B
" o C 0 £

®DEMAND  ® PRODUCTION

i) If company A desires to meet the demand i
: oy purchasing s i " ;
company is Yi sing surplus production of company, the most suitable
(]

a)C bD cE dB

i) If X% of demand for company C equals demand for Py B, then X :
, then X equals.

[ ]
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e
gt D20 060 d)d
ji) Ifthe production of the company D is h times L

roduction of company 5 o

a)l.5 b)2.5 c)l.2 d)1.8
iv)The difference between average demand and average P
2§00 b)280 ©)130  d)620

y) Theratio of the no.of Companics having more demand to
than demand is

a)4:1 b)2:2 ¢)3:2 d)2:3

roduction of the 5 companie.:

those having more productio

8. Study the following Pie chartquestions given below:

SALES

B PHYSICS B MATHEMATICS & HINDI

®EDUCATION  mCHEMISTRY  mZOOLOGY :
' [LECTURES | MALES:
' | MATHEMATICS | 3:4
| | EDUCATION | 53

| ' [HINDI [ 13
| | [CHEMISTRY __ | 17 :
' [PHYSICS [ 9:5
[ ZOOLOGY | 7:9 |

)Total number of lecturers (b
oth male and female) in Hingdj ; i
of female Jecturers in Mathematics and Chemistry !ogerll:er‘l? ° By ity pereent of the tota] Dumb
. mog¢

a) 58 b)43  ¢)47 d)s] €)50 -

ii . .
) What s the difference between the (ot number
Mumber of male lecturers inChemisny and Eq,

a)]

) 2 b)182 ¢)146 D136 €) none of e
1) Whatis the difference betwee
II'IHW

of lecturers oy
; I male ¢ .
Cation togathecy € and female) Zoology and
e

se L]

w

and the nuy
nber of
Mmale lect
urers
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No of students appearing for

, | Aptitude Tes1t_ 'f1rom various Towns(in
2y . ousands)
Oy ‘:‘] 325 i
0 17.5
A B C D E
——TOWNS

. - . ‘ wn
1) What is the ratio of the number of students appearing for the Aptitude Test from Town Bto the! ?’0"‘ TO

A?

a)34  b)13:16 ) 1116 d)2:3 c¢)none of these
i)What is the average number of students appearing for the Aptitude Test from all the Towns t0 gether? [ ]
4)33500 1)3350 ©)l 7500 d)33.5 e)none of these

{ii)The number of students appearing for the Aptitude Test from Town E is approximately what percent of the

{otal number of students appearing for the Aptitude Test from all the Towns together?
a)ls b7 )19 d)21 e)23

iv)What is the ratio of the number of students appearing for the Aptitude Test from Towns C and D together ©
the number of students appearing for the Aptitude Test from Towns A, D and E together? [ ]

a)ll:13 b)20:43 ¢)20:47 d)37:20 ¢) none of these

v)The number of students appearing for the Aptitude Test from Town D is approximalcly what percentage of
the number of students appearing for the Aptitude Test from Town C? [ ]

a)243 b)413 ¢)134 d)341 e)143

@uipde_

H_o D = \-‘f\"ﬂ NS
b\x\“\(@;p«\-\tﬁ*“’-“‘

TeVVRMIC " \ i
i ua‘r‘ch..;'{,f\'\!"lf}‘ ""Qurif-.r".',';r]j? 1%

seoenent of gt
Depadwnent ctiiathematics
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Telangana Social Welfare Residential

Degree College (Mancherial)

Course: Office Automation
Marks:15

1. Which of the following is not a font style?

a) Bold b) italic ¢) Super script d) None

In MS-word for what does rule help ?

a) To set indents b) To self tabs ¢) To change page margins d) All the above

Border can be applied to ? (]

a) Cell b) Paragraph c) feet d) All the above .

1GB= bytes ? [ ]

a)2%bytes b) 2¥%bytes c) 2°%bytes d) 2*%bytes.

5. is czlled as the brain of the computer ? [ ]

a) Hard disk b) CPU c) RAM d) DVD.

Which menu is used to change page size & type fare ? [ ]

a) View b) Format c) Tools d) Data.

7. Which bar is usually located below the tittle bar ? [ ]
a) Status bar b) Tool bar ¢) Scroll bar d) Number .

8. An excel work book is a collectionof ___ ? [ ]
a) Work sheets b) Charts ¢) Screens d) Work books .

9. Which charts don’t have axes ? [ ]
a, XY charts b) Bar charts c) Area charts d) Doughnut charts .

10. Which is called as nervous system of a computer ? [ ]
a) CPU b) CU ¢) ALU d) MU.

11. Maximum font size of MS-word is ? [ ]
a) 72 d) 1638 c) 512 d) Depends on the version.

12. Power point is the best described as ? [ ]

a) Presentation s/w b) Data base s/w c) Document s/w d) Spread sheet s/w.
13. What does WWW stands for ?

) world wide web b) wide world web c) why world-wide d) what wide world.

rd

w

-l‘

g‘l

14. The boxes going from left to right are -
i a) Colurrfns b) Rows ¢) Letters d) Tittles.
-You can insert the following on a slide ? L

a) Picture b) feet ¢) Chart d) All the above.
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TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREF, COLLEGE FOR WOMEN,
MANCHFRIAL

DEPARTMENT OF ECONOMICS
ADD ON COURSE FOR THE ACADEMIC YEAR - 2021-2022
ON

RURAL DEVELOPMENT IN INDIA

TIME: 1 HOUR MARKS: 5.

Name of the Studer . Group & Year:

I MULTIPLE CHOICE QUESTIONS 25X 2 =50M

1.Which of these is not an objective of rural development? £ )

a. To improve wages for the urban population

b. To work on removing unemployment in rural arcas
¢. To enhance the living standards of rural people

d. To improve wages for the rural population

2.When was the National Bank for Agriculture and Rural Development (NABA RD)setup? ()
a.1969 b.1975 c.1982 d.1991
3 help ir .egrate formal credit systems into rural sacieties.

a. Land development banks  b. Self-help groups
c. Regional rural banks d. Commercial banks

. Which of these programs were initiated by the Government of India for rural development? ()

F <N

_National Rural Livelihood Mission
Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA)

)

: Pradhan Mantri Gram Sadak Yojna d. All of the above

5.Self-help groups were introduced in ()
a.1982 b.1996 ¢.1992 d.1988

6. Which of the following is not true about self-help groups? ()

b. They are a small association of rural people

a. They were introduced in 1982
c. They help rural poor access the benefits of the credit system d. All of the above

7.The problems faced by agricultural markets in rural areas are iy ()
a. Malpractice in unregulated markets b. Lack of storage facilities
c. Lack of adequate finance d. All of the above

()

8.The apex funding agency in India for providing rural creditis __

a. State Bank of In-lia b. Regional rural banks

c. National Bank for Agriculture and Rural Development (NABARD) — d. None of the above

9. Where is the National Institute of Rural Development located ()

a. Hyderabad b. Patna c. Lucknow d. Delhi
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10. Which of the fi i
. ollowing is not what i
a. It is the development of rural fac““ilzsunderstood st L

b. It is the i ;
o, lsthe e':;Pl‘OVFmem In economic facilities and infrastructure
. n . . .
- I‘f’“}'c and sociological improvement of the rural population to increase the
i B ving d. All of the above
- Rural development means:
(Y

a. Improvin " i
enc?ourag;gng:slal'ves’ nlwclmg ll_w_ fundqmcntal needs of the rural population,
b T T p;:_op € to participate in social, economic, and cultural activities
o i 011_1“ sur\['):(;slcms rcLIi:!lcd(;n political institutions at the basic level
. 1 eys, recording data, and gathering i i i isti
i A ol ats g g information on demographic statistics

Thi ‘ ;
12-8\\ !nch of the following are important for the development of rural areas in India? ()
a. Social Infrastructure b. cottage industries c.. Global market  d. NGOs

13. Rural development has three dimensions or aspects. These three dimensions are: ()

a. Agricultural, animal husbandry, horticulture b. Drainage, roads, and airways
c. Social, economic, and political d. Housing, urban planning, economic

14. Which of the following statements about short-term credit is truc? ()
a. The duration of short-term credit is six to twelve months
b. The duration of short-term credit is six to nine months
c. The duration of short-term credit is three to nine months
d. The duration of short-term credit is three to six month

15. When was MGNREGA scheme passed?
a. 2006 b. 2005 ¢. 2009 d. 2004

()

16. What is the main objective of MGNREGA? ()

a. Providing free healthcare in rural areas
b. Enhancing rural livelihood sec urity through guaranteed wage employment

¢. Providing subsidies for agricultural inputs
d. Promoting urbanization in rural areas

()

17. What is the name of the vegetable and fruit market in Telangana State?

a. Apni Mandi b. Hadaspar Mandi c. Rythu Bazars d. Uzhavar Sandies

()

18. Which of the following is a non-farm area of development?
d. All of the above

()

a. Livestock farming b. Horticulture c. Fisheries

19. White Revolution is associated with:

a. Horiculture b. Fisheries ¢. Dairying d. Animal husbandry

20. Which of these schemes allows people from Below Poverty Line (BPL) to get essential?
goods at subsidised rates? ()

a. Public Distribution System b. Buffer Stock ¢. Minimum Support Price d. None of the above
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a) Cent ~
) Central government b) Land development banks

c) State cooperative banks d) Farmers

22. Which Union Ministry launched the ‘e SARAS mobile App*?

a). Ministry of Rural Development b) Ministry of MSME

Cl Ministry of Power . d) Ministry of External Affairs
23. Which of the following are institutional sources of rural credit? ( )

a) Regional rural banks b) Landlords ¢) Traders d) Moneylenders
24, Which of these programs were initiated by the Govenment of India for rural development? ()

a) National Rural Live'ihood Mission
b) Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA)

¢) Pradhan Mantri Gram Sadak Yojna

d) All of the above
25. Operation Flood is related to . « )

i the above
a) Milk cooperatives b) Pulses cooperatives c) Cereals cooperatives d) None of

A-Sun) s
0D
Dtpt- o& Etonemi'yg

4
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TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREE COLLEGE FOR WOMEN , MANCHERIAL

DEPARTMENT OF STATISTICS
ADD AND COURSE TOPIC : OPERATIONS RESEARCH

ASSESSMENT QUESTION PAPER

H.T.N.O MARKS:15
NAME TIME:1 HOUR
GROUP
CHOOSE THE CORRECT ANSWERS

1. Atransportation is known as balanced transportation if L j

greater than total supply

A)Total demand is less than total supply B) Total demand is

C)Total demand is not equal to total supply D) Total demand is equal to total supply

ation is based on minimizing the total transportation C )

2.Which of the following methods of facility loc

cost

A )Centroid method B)Break even analysis

Q) Transportation method D) Modified gravity model

3.In the north west corner method the allocations are made C D

A) Starting from the left-hand side top corner

B) Starting from the right-hand side top corner

C) Starting of the lowest cost cell

D) Starting of the lowest requirement and satisfying first

on problems VAM stands for C j

4. In transportati
B) Vogel's approximation method

A) Value addition method

C)VOGELS approximation method D) None of the above

of assignment problem is to obtain C )

B) Only maximum profit

5 The application

A) Only minimum cost

C) Minimum cost or maximum profit D) Assign the jobs

em is said to be balanced if C )

umber of columns

6.The assignment probl

A) Number of rows is greater thann

B) Number of rows is less than number of columns

C)Number of rows is equal to number of columns

D) If the entry of row is zero
7.The assignment problem is said to balanced if itis C )
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B) Rectangular matrix

A) Square matrix
D) Triangular matrix

C) Unit matrix
s a special case of transportation problem in which C J

g.The assignment problem i

A) Number of origins equals the number of destinations

B) Number of origin are less than the number of destinations

C) Number of origins are greater than the number of destinations

D) Number of origins are greater than or equal to the number of destinations

9. The Hungarian method used for finding the solution of the assignment problem is also called C _)

A) Reduced matrix method B) Matrix minima method

C)Modi method D) Simplex method

10.The assignment algorithm was developed by C )

A) Modi B)Kuhn  C)Hungarian D) Vogel’s

11.An assignment problem is a particular case of (_ j

A) Transportation problem B) Linear programming problem

C) Network problem D) Simplex problem

12.In a traveling salesman problem the elements of diagonal from left-top to right bottom are C ‘>
A) Zeros B) All negative elements  C) Al infinity D) All ones

13.The calculation of opportunity cost in the MODI method is analogous to a C

A) Cj-Zj value for non -basic variable columns in the simplex method )

B) Value of a variable in XB Column of the simplex method

C)Variable in the b-column in the simplex method

D) None of the above

14. The degeneracy in the transportation problem indicates that C )

A) Dummy allocation (s) needs to be added

B) (b) the problem has no feasible solution
C) The multiple optimal solutions exist
D) (a) and (b)but not (c)
15.An assignment problem is considered as a particular case of a transportation problem beca
A) The number of rows equal columns - (- :)
B) All xij=0 or 1
C)All rim conditions are 1

D) All of these
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TSWRDC (W) MANCHERIAL
DEPARTMENT OF MICROBIOLOGY
ADD ON COURSE

MUSHROOM CULTIVATION

40 Marks

Multiple Question Answers:

1.Which of the following is the crucial environmental factor for mushroom growth?
A.Wind Speed B. Soil Color C.PH level D.Oxygen Concentration

2. Which part of the mushroom is responsible for spore production?

A.Cap B. Stipe C. Mycellium D. Gills

3. What is the ideal range temperature range for cultivating most mushroom?
A.20-250C B. 50-550C C. 35-40oC D. 5-100C

4.Which Substate is commonly used for growing button mushroom?

A. Wheat straw B.Saw Dust C.Corn husks D. Rice bran

5.What is the purpose of pasteurization in mushroom cultivation?

A. To kill harmful bacteria and fungi B. To maintain PH balance C.To introduce beneficial fungi D. To
sterilize the substrate.

6. Which mushroom mushroom variety is known for its medical properties?

A. Shiitake Mushroom B. Oyster Mushroom C.Enoki Mushroom D. Morel Mushroom
7.Which method involves the cultivation of mushrooms on shelves or trays?

A.Bed Method B. Log Method C.Casing method D. Raised bed method.

8. What is the primary role of spawn in mushroom cultivation?

A.To control humidity B. To provide nutrients to the mushroom C. To introduce mycelium to the
substrate D. To improve Soil structure

9 What is the first stage in Mushroom Cultivation?

A. Casing B. Fruiting C. Spawning D, Harvesting

10. Which factor is crucial in preventing contamination during mushroom cultivation?
A. Humidity Levels B. Light Exposure C, Temperature Fluctuations  D. Air circulation
11. Which mushroom variety grows well on logs?

A. Portobello B. Shiitake C.Cremini D. White button
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12. What is the role of casing soil in mushroom cultivation?
A.To maintain PH balance B.To improve aeration C. Toinitiate fruiting D. To provide nutrients
13. Which process involves inducing controlled stress to initiate mushroom cultivation?

A.casing B.Incubation C.Pinning D. Spawing

14. Which factor is crucial for proper mycelium growth in mushroom cultivation?
A. Adequate moisture B. High light exposure C. Low humidity D. Alkaline PH
15.Which mushroom -growing method involves using water materials like coffee grounds of straw?
A. Hydroponic method B. Low-tech method C. Upcycling method D. Aeroponic method
16.Which among the following is a short term mushroom storage?
(a) Refrigeration (b) Canning (c) Pickling (d) Brining
17.Which among the following is added to the mushroom compost
(a) Table salt (b) Urea (c) Potassium chloride (d) Silica
18 Damping off disease in mushrooms are caused by
(a) Penicillium (b) Fusarium (c) Rhizopus (d) Dactylium

19. Which among the following mineral is commonly found in mushrooms? (a) Aluminium (b)

Manganese (c) Potassium (d) Strontium

20.Brining of mushroom refers to the addition of

(a) Sugar to mushroom (b) Oil to mushroom (c) Salt to mushroom (d) Spices to mushroom
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ANGETIC PROPERTIES, LASERS AND SUPERCONDUCTIVITY
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1.Example for diamagnetic materials ()
a)superconductivity  b)Alkali materials
¢)Transition materials d)Ferries
2.Magnetic permeability has unitas( )
3)Tesla  b)Henry c)Telsalm d)Henrylm
3.Typical thickness of Bolch Walls (nm)

a)0.1-1 b)1-10 ¢)10-50 d)100

4.Example for soft magnet ( )

a)45 permeability b)CrO, C)Fe-Pd d)Alnico

5.Example for magnetic material used in data storage devices ()

a)a5 permalloy b)CrO; C)Cunife d)Alnico

6.which of the following is a paramagnetic materiai? ()

a)lron b)Nickel c)Tantalum d)Cobalt

7.which of the following is a characteristic of a soft magnetic material? ( )

a)High coercivity b)Low remnant magnetization c)Higher hysteresis loss

d)larger hysteresis loop

8.which one of the following materials is used for making permanent magnets ()

a)steel b)carbon c)carbon-steel d)graphite

9.For high speed reading and storing of information in a computer ,the core shallbe of ( )
a)Ferrite b)Piezo electric c)Pyroelectric d)Ferromagnetic above 768°

10.The polarity of an unmarked horse shoe magnet can be determined by ( )

a)A charged glass rod b) A magnetic compass c)An electroscope

d)another unmarked bar magnet

11.In superconductivity the conductivity of a material becomes ( )

a)zero blfinite c)infinite d)none of the above

o L i e i i U N e

12.In superconductors the fermi energy levelsis ( )

a)below the ground state b)midway between the ground state and first excited state

Scanned with CamScanner



c)above first excited state d)at first excited state

13.The superconductivity state is perfectly in nature )

a)diamagnetic b)paramagnetic c)ferromagnetic d)none of the above

14.The minimum amount of current passed through the body of superconductor in order to

destroy the superconductivity is called ( )

a)lnduced current b)critical current c)Eddy current d)Hall current

15.The energy required to break a copper pair is of the energy gap of

superconductor ( )
a)one half b)equal to c) twice d)thrice

16.LASER is an acronym for ( )

a)light amplified by spontaneous emission for radius b)light amplification by stimulated
emission of radiation c)length assisted survey of region d)none of the above

17.which of the following is not a characteristic of a LASER ( )
a) monochromatic b)divergent c)coherent d)intense

18.The first laser was ( )

a)Rub laser b)Helium Neon laser c)carbon dioxide laser d)Nd:YAG laser
19.which of the following is not a property of laser ( )

a)directionally b)polychromatic c)coherence d)high intensity

20.which of the following is a unique property of a laser ( )

a)directionally b)speed c)wavelength d)coherence
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TeTangana social welfare Residential Degree College for women Mancherial-2022-23

Certificate course on “Awareness on Entrepreneurship™

Department of Commerce

1. Which of these is not a type of entrepreneurship?

a. Small business entreprencurship
b. Scalable entrepreneurship
c. Large scale entreprencurship

d. Intraprencurship

2. Which of these actions of an entreprencur will most likely result in creative destruction?

a. Developing a new product
b. Taking over a competitor’s business
c. Issuing shares to individuals and institutions
d. Lowering prices of your product or service
3. According to Schumpeter, innovative entreprencurs would:
a. Thrive in the market
b. Not survive and disappear from the market.
¢. Get absorbed within larger innovative businesses

d. Get absorbed within non-innovative businesses

4. Which of these is not a challenge for the entrepreneur?

a. Managing the cash flow of their business

b. Recruiting new employees
Choosing the product or service to sell in the market

d. Formulating rules and regulations relating to conducting entrepreneurship in

their country
5. Which of these theories in volve taking a moderate amount of risk as a function of skill and
not chance?

a. Need for achievement
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b. Need for affiliation

. Need for authority

d. Need for independence

6. Which of these is not g category of external forces that affects 2 business?
a. Competitive forces
b. Technological forces,

¢. Economic forces

d. Socio-cconomic forces

7. Which among these is a money manager who is involy
equity capital with the objective of gaining better returns?

a. Entrepreneyr

b. Businessperson

¢. Buyer

d. Venture capitalist

8. Andrew Carnegie belonged to this century:
a. 16thto 17th Century
b. 20th to 21st Century.
c. 17thto 18th Century

d. 19th to 20th Century

9. Which of these is the first activity of a new business?

a. Departure point

b. Goal Orientation

¢. Business skil| development

d. None of the above

10. Who should be inyolveqd in preparing a firm’s business plan?

a. Accounlanl

b. Engineer
C. Entreprencyr

None of the above
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1. What should be the main worry of a company’s founder who asks for capital in exchange

for equity shares in their venture?
a. Valuation
b. Control
c. Capitalisation

d. Legal formalities

12. The process of creating something new is called:

a. Creative flexibility
b. Management
c. Business

d. Innovation

13. Ownership position of less than 50 per cent in a business is known as:

a. Majority Interest
b. Joint Venture
¢. Minority Interest

d. None of the above

14. Which of these is also known as corporate venturing?

a. Intrapreneurship
b. Mergers
¢. Entreprencurship

d. Acquisition

15. If an entrepreneur takes decisions on behalf of their enterprise, it is known as

a. Routine decisions

b. Strategic decisions

c. Organisational decisions

d. Personal decisions

16. Entrepreneurship Development Program is helpful for:

a. First-generation entrepreneurs

b. Future generation entrepreneurs
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18. Ownership position of more than 50 per cent
a. Minority Interest

b. Joint Venture

C. Majority Interest

d. None of the above

19. What is the purpose of a feasibility study for starting a new venture?

a. Exploring for potential customers

b. Estimate sales

To understand if there are any barriers tq success
None of the above

20. An entrepreneyr Who is the owner of more than one by,

a, Portfolio Entrepreneyr

b. Intrapreneyy

¢ Corporage i'{nlrcprcneur

d. None of (he above

21. The word entrepreneyy deriveq from
(a) Entrcprena

(b) Enereprisc

(©) Enlaprena

@) Entreprenye

22. The worg Entrepreneur Was inlroduced by
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(@) M.S dhoni

(b) Mukesh ambani
(€) Jean-Baptiste
(d) Stive jobs

23.In 16th century entrepreneut word applied to
(a) Leader of NCC
(b) leader of military expedition
(¢) Leader of samaj

(d) None of the above

24. In 18th century it was used to refer to
(a) Economic activities
(b) Noneconomic activities
(c) Managerial activitics

(d) None of the above

25 First time who applied Entreprencur to the business?
(a) Dj bravo
(b) Jean-Baptiste
(¢) Johnson

S(d) Richard Cantillon
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TELANG N
ANA SOCIAL WELFARE RESIDENTIAL DEGREE COLLEGE FOR WOME ’

MANCHERIAL

MANCHERIAL

DEPARTMENT OF MATHEMATICS

CERTIFICATE COURSE: LOGICAL REASONING
ACADEMIC YEAR: 2022 -23

QUESTION PAPER
Answer all Questions (1 ;30‘-’30M)
L. :; ?)imr;scode ‘MISSIE)I\(I)ST;I\;;riltcn as ‘MSIISNOS.’ How is ‘ONLINE’ written in that code? [
5. Tresmmoas JVONILEN, ¢)LNOENI  d)NOILEN 0
- Incertain code “TIGER” is written as ‘QDFHS.’ How is fish written is that code?

X ;1) GERH. l::)‘ GRI.-{E c¢) GREH d) GHRE ]

3. In a certain code ‘ROAR’ is written as ‘URDU.” How is ‘URDU’ written in that code? [
a) VXDQ b) BXUGX ¢) ROAR d) VSOV

4. One morning Udai and Vishal were talking to each other face to face at a crossing. If Vishal’sShadow was
exactly to the left of Udai, which direction was Udai facing? [ ]
a) East b) West c) North d) South

5. P.Q,R, S and T are sitting around a circular table ‘R’ is to the right of ‘P” and is second to the left of S’
T is not between P and S. Who is second to the left of R? (]
a)S b)T c)O d)Q

6. Q travels towards East. M travels towards North. S and T travel in opposite directions. T travels towards
Right of Q. Which of the following is true? [ ]
a) M and S travel in opposite direction b) S travels towards west
¢)T travels towards north d) M and S travels in the same direction

7. Printing to a photograph of a boy Suresh said, “He is the son of the only son of my mother” How is Suresh
related to the boy? [ ]
a) Brother b) Uncle ¢) Cousin d) Father

8. ‘M’is the son of ‘P." ‘Q’ is the granddaughter of *O.” Who is the Husband of “P.” How is ‘M’ related to ‘0’9 [ ]
a) Son b) Daughter c¢) Mother d) Mother-in -law

9. Xand are Brother’s. ‘R’ is the father of ‘Y. T is only sister of S and is Maternal Uncle of X. How is T related
To R? [ ]
a) Sister b) Mother ¢) Brother d) Wife

10. In a row of children facing north, Rohan is 12" from the left end Suresh, who is 22™ from the rightEnd i fo
to the right of Rohan. Total how many children are there in the row? [ urth
a) 36 b) 35 ¢)37 d) 38 ]

11. If the digits in the number 9568739842749 are arranged in descending order, the position of how many Jegq
shall remain the same? Y e
a) Two b) Four ¢) Three d) Seven

12. In a class all students participated in a Quiz competition. Albert ranks 6" from the top and 23" from tp b
Then, find the total number of students ¢ bottom.
a) 27 b) 28 ¢)29 d) 17

13. Who is the tallest among the brothers A, B, C, D?
Statement 1:C is Shorter than only BB [ ]
Statement 2:D is taller than only A
a) Statement 1 alone is sufficient b) Statement 2 alone is sufficient
c)Both Statement 1&2 together are sufficient  d) Both Statement 1&2 even together are not suffici

14. What is the value of ‘X.’ tent

Statement 1: x*+x-6=0 [ ]
Statement 2: x>=0
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) Sta \ 4 % g -%_ ~C]
a te i i L 9
Both glent I alone is sufficient b) Statement 2 Bt sulﬁc:cnt ther are T2 % o z

.3 tatement 1&2 toget] . d4) Both Sratement 1&2 even together are 2
IsMangle ARc gether are sufficient

Statemeny 1. an equilateral triangle? .
Statemeny 7. 1 ¢ length of AB is equal to the length of AC

he length > o the length of AB ) )
a)slatcmem 1 egis «::frrii,': equal to twice the leng | Statement 2 alone is cufficient | By
c)Both Statement 1&2 {n i N ‘ d) Both Gtatement 1&2 even together are no ;u I“;
One morning < together are sufficient hadow of the pole was forming on the le

side. Which fiﬂer' sunrise. Amrit was standing facing pole. The s
a) East Ich direction was Amrit facing? [ |

b) West ¢) North d) Sauth fler sometime, she turned left,
a started walking positioning his back tow.'ard!_: the sun. After sq [ ]. . ;
hen towards the left again. In which direction 18 she going now!

b) East c) West d) South

Inthe evening, Ashmit

then turneq rig)
t
o No: ght and tl

: ore
. Ahmedabad is to the southwest of Bangalore, Chennai is to the cast of Ahmedabad and southeast of Bangalor

¢ : 2 el : is
and Delhi is to the north of Chennai in line with Ahmedabad-Bangal; ore. In which direction of Bangalore

Delhi located? [ ]
3) 5“%‘“‘ b) Southwest ¢) North d) Northeast . . b

. Pointing to a boy in the photograph, Monika said, “His sister is the only daughter of my father”. How is the boy
related to Monika’s father? E
Nep hew b) Father c) Son d) Brother

. Pointing 10 a person, Aman said, "His only brother is the father of my daughter’s father". How is the person
related to Aman?[ ] a) Nephew b) Father ¢) Uncle d) Brother

. Pointing to a girl, Kirti Said, “She is the daughter of my brother’s wife”. How is the girl related to Kirti? [ ]
a) Nephew b) Niece ¢) Sister-in-law d) Mother

_Ais B's sister. C is B's mother, D is C's father. E is D's mother. Then, how is A related to Do? [ ]
a) Grandfather b) Grandmotherc) Daughter d) Granddaughter

_Ais B's sister. C is B's mother. D is C's father. E is D's mother. Then, how is A related to Do? [ ]
a) Grandfather b) Grandmotherc) Daughter d) Granddaughter

. Introducing 2 boy, a girl said, "He is the son of the daughter of the father of my uncle.” How is the boy related tc
the girl? [
Ja) Brother b) Nephew ¢)Uncle d)Son-in-law

. What will be the total weight of 10 poles, each of the same weight? []
Statements:

One-fourth of the weight of each pole is 5 kg.
The total weight of three poles is 20 kilograms more than the total weight of two poles.
a) laloneis sufficient while 11 alone is not sufficient b) Il alone is sufficient while I alone am not sufficient

c)Either I or 11 is sufficient d) Neither I nor 11 is sufficient
How many children does M have?[ |

Statements: '
His the only daughter of X who is wife of M.
K and J are brothers of M.

a) 'I alone isllbl.‘lf_]l.cl;i‘.ll‘!‘\\'|lilc Il alone is not sufficient b) 11 alone is sufficient while I alone is not sufticient
c)blll}er lorllis t‘-u‘ icient . d) Neither I nor 11 is suflicient
The last Sunday of March, 2006 fell on which date? [ |Statements:

The first Sunday of that month fell on Sth.

The |ast day of that month was Friday,
Alone is sufficient while 11 alone is o e s .

ngiltl;lelfl or 11 is sufficient Falone is not sufficient b) 1l alone is sufficient while 1 alone is not sufficient
. 1aloot 3 (INUI vl 1 culticie

What is the code for 'sky" in the code language? [ | )Neither I nor Il is sufficient

Statements:
a ! ¥ m
In the code language, 'sky is clear is written as 'de ry fy'
Inthe sam(;—' code lanﬁ,'uage, 'make it clear is written '15(?(.1 io'
I alone is sufficient while I alone i L EA O,
c)Either Lor Il is sufficient one is not sufficient b) 11 alone is sufficient while I alone is not sufficient
d) Neither I nor II is sufficient
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& 'How is J related to P?[ )

Statements:
M is brother of p and T is sister of p.

P's mother is marrjeq
. to J's husbang
a) .I alone is sufficient while Il :;ho hfls one son and two daughters. t‘l‘l"ieﬂt
c)_Elther Lorllis sufficient one is not sufficient b) I alone is sufficient while I alope js 1" o
30. In which year was Rahy] born?[ ) _ d)Neither Inor IT is sufficient

Statements:

:::i:::.: tbl::;z :t:;fhzs Years younger to his mother.
5 Liliee ,is suo ﬂ;\::z rll:;o\:r;lzre ll?i?. is '.?5 years younger to his mother. ufﬁcicnt
c) Eitherlor 11 js sufficient oretsnet summen:i;)];;]ll?‘lo::diils:g :Leflil'ltc‘i::i:e Lalone is 10 .
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Telangana Social Welfare Residential

Degree College (Mancherial)

Course: Office Automation

Marks:15

1. Which of the following Is not a font style? [
a) Bold b) Italic ) Super script d) None

2. In MS-word for what does rule help ?
a) To set indents b) To self tabs c) To change page margins d) All the above

3. Border can be applied to ? [ ] |
a) Cell b) Paragraph c) feet d) All the above. |
4. 1GB= bytes ? [ ]
a)2'%bytes b) 2%°bytes c¢) 2*bytes d) 24%bytes .
5. is called as the brain of the computer ? [ ]
a) Hard disk b) CPU ¢) RAM d) DVD.
6. Which menu Is used to change page size & type fare ? [ ]

a) View b) Format c) Tools d) Data.
2. Which bar is usually located below the tittle bar ? g

a) Status bar b) Tool bar ¢) Scroll bar d) Number .
8. An excel work book is a collection of ? [ ]
a) Work sheets b) Charts c) Screens d) Work books .
[ ]

9. Which charts don’t have axes ?
a, XY charts b) Bar charts c) Area charts d) Doughnut charts .

10. Which is called as nervous system of a computer ? [ ]
a) CPU b) CU ¢) ALU d) MU.
11. Maximum font size of MS-word Is ? [ ]
a)72d) 1638 ¢) 512 d) Depends on the version.
[ ]

12. Power point is the best described as ?
a) Presentation s/w b) Data base s/w ¢) Documents/w d) Spread sheet s/w.
[ ]

13. What does WWW stands for ?
a) world wide web b) wide world web ¢) why world-wide d) what wide world.

14. The boxes going from left to right are [ ]
a) Columns b) Rows c) Letters d) Tittles.

15. You can insert the following on a slide ? [ ]
a) Picture b) feet c) Chart d) All the above.
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TELANGANA SaclAl. WEL FARE
RESIDENHAL DEGREE colLEGE

__._n——‘ ? Eéwg—%ﬁ_}'&ﬁk‘ﬁ F\E f ;‘{t ﬂ'_}‘ _%fhzé o
Tme:tHe Marks: 4om-

~ Wiite any four Guestions (4x10740)

I"How can Yov apply green chemisiry for the folowing.
()To Comrol photochemical smogd-
_(i)To Yedwe USe of Synihetic delerdents.
(i) TO Teduce the Consumption of Ppetrol and dliesc).

2+ Explain how does dreen house cffect cavse dlobal'warmings |
3 Greenplants Use  Carbondioxide for photosynthesis and |
~retorn Oxygen {o the atmogphere 5 even then Carbondiox idd
is Congidered 1o be responsible for dreenhouse effect.
- ~ CxPlainwhy? e ———— o ) N
4 What are the sovices of dissolved Oxygden in water and the
imporiante of mcasuind BOD of a waler body »
& what _ate_ __Bj_pc\_gg_i’@_a_};_l_e__anc\ Non- Biodedradable polluta nts. S

) ~ explain? @
‘:l'_ Choosé_-jlhc (orreé‘: ;1‘1.5-\/_\)'8!—_;{"_’?”1;_{0"DW\hg‘ ____ B
~ Questions B _IX10=loM |1
I which of the following dases is not a dreen hovse  |f
e #-00 | ek . B ﬁ
. b0y S . :
S 1Y e R —— N |
i d. Ha0 Vapour _ —

e ——

|2 Photochemical Smod occurs In warm, dry and o ‘
__ Climate- One of the folowing Js not amon SUrhe |
_ Components of Pholochemical smog , idgrtify it |

~. _@aNO= 95

R .
1 W TSWRDC(W), MANCHERIAL |
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TELANGANA SOCIAl WELFARE
RESIDENTIAL DEGREE (olLEGE fop

~-WOMEN: MANCHERIAL -~

b0
C+ 50,
d- Unsatvrated hydrocarbon

3 Biochemical Oxyden demand s@oD) fs @ measure of
Ordanic malerial _Present in Waler- ROD Valve [ess than
~bPpm indicates 3 Wajer Sample to he. |
a- Kich in dissolved OKY§enW .
b- Ryor in dissolved OXYden B
C- Highly polvted
d' Not svitable for aquatic life

4 Which of the followind _Sia{emt_ht is Wrong»
a- Ozone Is not fesponsible _@______gf‘:f_r:_t_gh_ov_sg effect
b Ozore @n Oxidise S0, present in the atmospheye
% 803 - R . B
C-0zone hole is thinrind of Ozone layer present jn
| ‘Statospheye
d- OZone is produced in UPPer Stfatosphere by +he
_adlion of UV ra¥s on 0XVgen.

s The dascouvs cnvelope aroond the earth is Known ag

3tmosphere: The Jowest |ayer of fhis fs extended LPto |

1o Kilomeicers from Sea level tThis |aver Js.
a- Siralosphere
| b {roposphere
¢ Mesosphere
d- Hydrosphere

“-Which of 4he followind Slatements akoot Photochemics)
~_&mog _fs Wong- _ I | W

-3 1 has hidh concentration of Oxidis Nagen{s-
| has low C.Q_n_cen{r_aﬁon of  Oxigw ’s’ﬁgﬁ%ﬁrm

Lhas

: ‘[.'““
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¢ it @n be contiolled by Controlling the release of NO,
hydroCarbons , 0zone etc.

d- Plamation of Seme plants like  Pinus helps in Comrolling
PhotoChemical smod.

3 Dinitiogden and ‘Dioxyden are main constitvents of gir bot
these do not react with each other to form oxides of
~ Nitroden becquse.
d-The reaction is €ndolRermic and repairs Very high
Yemperajure. |
b The fedaction @n be inikiated only n Presente of a
B €<, €10 (S T o
C- Oxides of nitroden are  Unstable.
~ 4N and 02 dre  Onreackive. -_

3- Which of the FOHOW_ihé $?ta{emehts 'S -no-t true Sbout
| Classical Smog-
3-1ls_ main componenls gre produced by the achon of
_Sunlidht on emissions of auvtomobiles and faclories
b- pmduccd In cold and Humid climate |
c: H. Contains compounds of reducing nature.
d- it confains Smokes Fod , and SO,

Sewagt Containingd ordanic waste Shovid hot be
Jisposed in  waler hodies because it

(Quses  ndjor  Watery  folulon. Rshes in such 3

POHU{-CA waler die })Q(@USQ of. -

3. 181‘3‘(‘. ﬂUIT\bty O'I \V\GS(]UI‘{C(’S e

b increase in lhe amoont of ('\‘i\ssolﬁ%{‘ﬁ/' -

Oxyden. PRINCIPAL
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N Water.
d- Cloddind of dills by mud-

ro- The Polivtands which come directly jn the air {rom
~ Seme Sources are Called  primary polivtants.
Primary pollutanis are Sometimes comverted into

E Secondary Pollutants- e

~ Which of the followingd belondcto Seconclary air

~ Pelotants 2

aCo o
b- HYdro Carbon. S
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TSWRDC (W) MANCHERIAL
DEPARTMENT OF MICROBIOLOGY
ADD ON COURSE
INTRODUCTION TO MICROBIOLOGY
40 marks
Multiple Question Answers:

1. Who is the father of microbiology
A.Edwin john butler B, Ferdinand cohn

C.Robert Koch D. Antoni wan Leeuwen hoek

2.Phosphorus is essential component of

A.Phospholipids  B. Teichoic acid C. Nucleotides D. All of the mentioned

3. Which of the following method can be used to determined the number of bacteria quantitatively
A.Spread plate B.Streak plate C. Pour plate and spread plate  D. Pour plate

4. Growth of bacteria or micro organism refer to

A. Changes in the total population B. Anincrease in number of cells

C. Anincrease in the size of an individual organism
D. An increase in the mass of an individual organism

5. Glycolysis Can occur in

A. Anaerobic cells B. Aerobiccells C. Neither aerobic and anaerobic cells D. Both

6. Oxidase positive

A.Pseudomonas B.Klebisella  C. Staphylococcus D.E .coll

7. Antibiotic sensitivity testing is usually done on

A. Blood agar B. Chocolate agar C. Mac conkey agar D. Mueller hinton agar
8.TSlis.....

A.Selective B.Enrichment C.Enriched D.Composite

9. Selective media for shigella

A. Wilson blair B.TCBs C.DCA D. Blood agar

10.Recomended transport medium for stool specimen suspected to contain enteric pathogen is

A. Amie’s medium B. Buffered glycerol saline medium C. Macconkey medium D. Blood agar
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11.Robertson cooked meath broth an example

A Enriched media  B. Enrichment medi

a C. Nutrient media D. Anacrobie
12. Blood agar is an example

A.Enriched media B.Enrichment media C. Nutrient media D. Special media
13. Which one of the following true ...

A. Agar has nutrient properties B. Chocolate medium is selective medium

C. Addition of selective substances in a solid medium is called enrichment media
D. Nutrient both is basal medium

14. Which of the following is on enrichment media
A.Alkaline peptone water

B.Monsur's tawrocholoak tellurite peptone water

C.selenite f broth D.All of the above

15.To prevent swarming the agar in the nutriant agar has to be increased atleast to
A2% B4% C6% D.8%

16.The bacterial culture prepared by pure culture technique is called as

A. Culture development

B. Inoculum
C.Suspension

D.Dilution of microorganisms

17. Compound microscope was discovered by

a. Antony von b, Pasteur ¢. Johnsen & Hans d. None of these

18. Father of Medical Microbiology is

a. Pasteur b. Jenner c. Koch d. A.L.Hock

13.. In electron microscope, what material is used as an objective lense?
a. Magnetic coils b. Superfine glass c. Aluminium foils d. Electrons

20. Electron Microscope was discovered by

a. Prof. Fritz b. Janssen and Hans c. Knoll and Ruska d. None of these
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TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREE COLLEGE FOR WOMEN,MANCHERIAL
DEPARTMENT OF STATISTICS

ADD ON COURSE TOPIC : OPERATIONS RESEARCH (2022-23)
QUESTION PAPER

HALL TICKET NUMBER: NAME: MARKS:20M

1.  The transportation problem is basicallya ()

(a) Maximization model
(b) Minimization model

(c) Trans shipment problem
(d) Iconic model

2. To convert the transportation problem into a maximisation model we have to C \

(a) Write the inverse of the matrix
(b) Multiply the rim requirements by -1
(c) Subtract all the values from the maximum value of the matrix

(d) We cannot convert the transportation problem into a maximization problem, as it is basically, a minir

3.  The column, which is introduced in the matrix to balance the rim requirements, is known as C )
(a) Key column

(b) Idle column

(c) Slack column

(d) Dummy Column
4. In atransportation problem where the demand or requirement is equal to the available resource

isknownas ( )

(a) Balanced transportation problem
(b) Regular transportation problem
(c) Resource allocation transportation problem

(d) Simple transportation model

e L ity e o

5 The penalty of a row in a transportation problem is obtained by ( F}

(a) Deducting the smallest element in the row from all other elements of the row
nts of the row

(b) Adding the smallest element in the row to all other eleme

[
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(b) Graphical method
(¢) Vector method
(d) Hungarian method

lz. ln the H i i
ungarian method of solvmg an assignmcm problem the row reduction is obtained hy ( )
Ll i i

(a) Dividing cach row by the elements of the row above it

(b) Subtracting the elements of the row from the elements of th i

(c) Subtracting the smallest element from all other elemt;nts of:hr:w i

(d) Subtracting all the elements of the row from the highest elcmen:: the matrix

13. The assignment matrix isalwaysa [ M

(a) Rectangular matrix
(b) Square matrix
(c) Identity matrix
(d) None of the above

14. In atraveling salesman problem, the elements of diagonal from left-top to right bottom are ( ’)

(a) Zeros

(b) All negative elements
(¢) All infinity

(d) All ones

15. The similarity between Assignment Problem and Transportation Problem is C ')

(a) Both are rectangular matrices

(b) Both are square matrices
(c) Both can be solved by graphical method
(d) Both have objective function and non-negativity constraints

16. The following character dictates that the assighment matrix is a square matrix ( ')

(a) The allocations in assignment problem are one to one

(b) Because we find row opportunity cost matrix

(c) Because we find column opportunity matrix
(d) Because make allocations, one has to draw horizontal and Vertical lines
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17. When we try to solve the assignment problem by transportation algorithm the following difficu

(a) There will be a tic while making allocations

(b) The problem will get alternate solutions
(¢) The problem degenerates and we have to use epsilon to solve degeneracy
(d) We cannot solve the assignment problem by transportation algorithm

18. Which of the following methods is used to verify the optimality of the current solution of the tran

(a) Least cost method

(b) Vogel’s approximation method
(c) Modified distribution method
(d) All of the above

19. In atransportation problem, we must make the number of and equal. ( ')

(a) destinations; sources
(b) units supplied; units demanded
(c) columns; rows

(d) positive cost coefficients; negative cost coefficients

20. The assignment problem will have alternate solutions ’)

(a) when total opportunity cost matrix has at least one zero in each row and column
(b) when total opportunity cost matrix has at least two zero in each row and column

(c) when there is a_tie between zero opportunity cost cells
(d) if two diagonal elements are zeros
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' 1. \ELFARE' RESI] _- '

TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREE COLLAGE (W) MANCHERIAL

DEPARTMENT OF POLITICAL SCIENCE - ADD ON COURSE
2092-23% .
HUMAN RIGHTS

1) Which of the following is the first charter of Human's rights? ()

a.Bill of rights B .Constitution of media

Ic. The Cyrus cylinder D .None of the above
2) Who played an important role in international human rights law? ()
A.Economic summit B.World War
C.The United Nations D.None of the above

3) Who adopted the landmark document, the universal declaration of human rights? ()

a.UNESCO b.UNICEF c.UNO d.None of the above

4) When was the universal declaration of human rights adopted by UNO ()
1T IsEMEL

a.10"" December 1946 b.10™ December 1947

¢.10" December 1948 d. December 1949

5) Which article of the universal declaration of human rights tells that the right of
nationality depends on one's wish? ()

a. Article 10 B.Article 20 C.Article 30 D.Article 15
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6) Who was the first chairman of the commission on human rights? ()

A.Thomas Jefferson B.Thomas Paine

C.Eleanor Roosevelt D.None of the above

7) The Universal declaration of human rights was adopted under whose chairmanship? ( )
A.Adolf Hitler BJawaharlal Nehru
C.Eleanor Roosevelt D.None of the above
8) The Universal declaration of human rights is applicable to - ( )

a. Every individual, regardless of religion, race, gender, or cultural background
b. The citizens of UN member countries

Some countries
d. None of the above

9) On which anniversary of the Universal Declaration of human rights, the slogan “All

human rights for all* was adopted? ()

a. 12t B30t C5oth D None of the above

10) How many articles are there in the Universal Declaration of human rights? ()

A.15 B.20 c.30 d.35
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11) In which . T
Vit )IC of the following year, the declaration of the rights of the child passed by the

a. 1949
b. 1959
c. 1969

d. None of the above

12) Which of the following country has adopted the "Declaration of the rights of man and
of the citizen"? ()

a. Italy
b. India
¢. France
d. All of the above

13) The human rights day is observed on - ()

a. 10t December
b. 9t December
¢c. 1t December

d. None of the above

SN

14) When did the NHRC (National Hljman “Rigvht's Commission) of .In.di‘a. c'onstiiut?( | )

a. 1993

b. 1992
1990
d. 1991

.: o
1
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C. 21A

16 i ;
) Who is the current chairman of the NHRC (National Human rights commission)? ( )

a. Justice H.L. Dattu
b. Justice A'S. Anand
Both of the above
d. None of the above

17) W_hich of the following can be the chairman of NHRC (National Human rights
commission)? ()
a. Any retired chief justice of the supreme court

b. Anyone who is appointed by the president

c. Any sitting judge of the supreme court

d. All of the above

18) Which of the following year is observed as the International Year of the child? ( )

a. 1949
b. 1959
1979

d. None of the above
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24 19) Which of th :
SHildrers ( e foilowmg article of g I
| ) the Indian constitution prohibits hazardous jobs to

a. Article 24
b. Article 21
C. Article 22
d. Article 25

20) What is the full form of UNHCR? ( )

a. United Nations high commissioner for refugees
b. United Nations high-level committee for refugees
United Nations health committee for refugees

d. None of the above

21) Who is the author of the book "Human rights and inhuman wrongs"? ()

a. R. Krishna lyer
b. Upendra Baxi
Chiranjeev Nirmal

d. None of the above

22) What is the full form of ECOSOC? ( )

a. Eco society of Canada

b. Ecosocial council

Economic and social council

d. None of the above

st sy Sy e oo T s ey et i
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i fPerson of NHRc (National Human Rj
: 4 years or upto 68 years of age
. 3 years or Upto 69 years of age

C.
S years or Upto 70 years of age
d. None of the above

a. The Prime Minister, O iti
» Opposition's leader in the Lok Sabha, L
The Deputy Chairman of the Rajya Sabha 7 Lok sobha Spester

b_ - . . . .
The Prime Minister, The Home Minister, Opposition Leader in the Lok Sabha,

Opposition leader in the Rajya Sabha, Lok Sabha Speaker, The Deputy Chairman
of the Rajya Sabha

c. The Prime Minister, The Home Minister, Opposition's leader in the Lok Sabha,
Lok Sabha Speaker

d. None of the above

25) NHRC consists of a chairman and -

a. Four members
b. Three members
c. Two members

d. None of the abov
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MAGNETIC PROPERTIES , LASERS AND SUPERCONDUCTIVITY
MCQs

1.The phenomenon of super conductors was first discovered by( )
a)Rammerlingh innes b)Neils bohr c)Richard smalley d)Otto lehman
2.The shifting of electrons in super conductors is prevented by ( )
a)quantum effect b)Threshold energy level c)Energy barrier d)orbitals
3.The earliest superconductors to be studied ( )

a)Niobium alloy b)copper alloys c)steel alloy d)iron alloys

4 The electrons head in direction ( )

a)same b)different c)Random d)opposite to one another

5.Below transition temperature ,the electrical resistance of the super conductor is ( )

a)finite b)large c)zero d)none

6.The population inversion takes place at medium ( )

a)stable b)excited c)active d)homogeneous

7.Different methods used to achieve population inversion are ( )

a)direct excitation b)inelastic atom-atom collision c)chemical reaction d)all of the above
8.In stimulated Absorption , what is the life time of atomic grounds state ( )
a)1 second b)1 minute c)1 hour d)infinity

9.The coherence of laser emission results in extremely ()

a)high power b)low power c)less intensity d)high dispersion

10.Absolute monochromaticityis( )

a)achievable b)easily achievable c)achieved in all cases d)difficult to achieve
11.A horse shoe magnet is an example of

a.Natural magnet b.Artificial magnet c.Neither natural not artificial d.None

12. A freely suspended magnet aligns in which direction
a.south- west b.east- west

C.north-south d.north- west :
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13.Which among the following materials di i
S dlspiay hlhﬂrma .
- MIBNENC susceptibin
- vy

A.Ferro magnetic material B.paramagnetic material

C.Duamafneticmaterial ~ D.None of the above
14.A permanent magnet has the capacity to attract
AAll substances B.Some substances

c.Only ferromagnetic substances D.NoNe

15. The S units of magnetic flux is
a.Dyne. b.Tesla c.Weber. d.Ohm
16. Susceptibility is positive for
2 Ferromagnetic material b.Paramagnetic material
c.Diamagnetic material. d.optionaandb
17. What does a super conductor exhibit

a.Ferromagnetism b.paramagnetism c.diamagnetusm d.None of the above

18 State true or false
Magnetic field lines do not form loops

aTrue b. False

19 Relative magnetic permeability is unit less

a True b. False
20.The relative Permeability of a medium is 0.050 what itisits magnetic susceptibility

2500 b.501 c49.9 d 499
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TELANGANA SOCIAL WELFARF RESIDENTIAL NFGREE f_'OLI.EGF'
) (WOMEN), MANCHERIAL
DEPARTMENT OF ENGLISH, ADD ON COURSE 2022-2023

BASIC GRAMMA ‘OMPETITIVE EXAMS
TIME 1 HOUR MMAR FOR COMPET “A}{Ks; 50 M

Name of the student: Class & year:
Multiple Choice Questions: o

A.)T(];; n?:f.:l, é}at; zhc word communication is
B) Communicare

C) Compute

D) Computer

2. The first language which we learn or speak as a child

A) Jargon -
B) Dialect

C) Mother Tongue

D) Vemacular

3. By what method we can know what the receiver understood or got the message
A) transmitting

B) feedback

C) message

D) listening

4. What is a sentence?

A) A group of ideas.
B) A group of words that communicate a complete thought.

C) A set of rules to write correctly.
D) A set of words that is grammatically correct

5. Which of the following is NOT a communication barrier?
A) Linguistic barrier

B) Interpersonal barrier

C) Financial barrier

D) Organisational barrier

6. Which of the following is not an element of the communication cycle?

A) Channel

B) Receiver

C) Time

D) Sender

T con e mssssisms is the exchange of messages in the communication cycle.
A) Transmitting

B) Listening
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) ,\lt‘i?ﬂ.m"
D) Feedbac

masiers i .
P mnu:allnﬂ

facc in formal comn
cetings

mﬁnicﬁrc‘ means ___—

B) not oS
C) face-1t”

D) business m
in Latin.

0. The “‘(‘I'd *Com
A) 1o deliver

B) to share
C)to pr{,’SCm
D) to sacrifice

he final step in the communication cycle?

10. What is t

ar mclhnd of communication

5 \\.\L\"“"

e NS

\ \\\\.i"

\ aakub al
y. Whe ¥

false

d. Both A & B wre wrong

autiful the countryside is
d. None of them.

d. Advercity

A) Encoding
B) Decoding
0) Feedback
D) Receiving
1.1 refused to the performance evaluation because there was
information in it
2. Accept b. Except c. Both A & B ar¢ correct
i2. Anyone been to Wales knows how be
a. who's b. whose c.botha& B
13. find the correct spelt word.
a Adulterate  b. Adeldurate c. Adulterat d. Adultarate
14. Find the correct spelt word
a. adverisity b. Advercety c. Adversity
15(,:17 ind the correct spelt word.
d. :
enrfuge b, centrifuse c. centifue d. centrifuge

16.There was some

a. di ;

" d":h' b.Mis ¢. Un d. Anti

: » Which of these prefixes means ‘below’?
under b, pre c.over d. here

l 8. Brainstorming js a part of
a. Revision  p, Editing

+
)

c. Pre-wyiting process

agreement over the topic.

d. Publishing
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letter ncludes

a A salutation In]\;h ne DLHI"IHIIOI‘I
1° ar

4., Signatuf®

d. All of these

Jal letter is written in which part od a formal letter?
*a form? ‘

s L5 T ]“ C. buthL[ d. l;ody

. . . . a Frarmmr bt
" et way to write the subscription in a formal letter?
2], What s the correct Wa) 5

yours Truly b Yourtruly  d. Youtruly d. None

22 Which of the following is not a part of a letter to editor?
a Date b.Subject c. Salutation D. Photo

23. Minutes of meeting is written in

a. school b. College c. office d. all of these.

24. How should the subject line be?

a. Long and descriptive  b. Short and precise c. A greeting d. Does not matter

25. It is important to read the email completely before responding.

a. Only if you have time b. Not important at all c. Always d. Only if it is from seniors
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TELANGANA SOCIAL WELFARE RESIDENTIAL DEGREE COLLEGE (WOMEN),

MANCHERIAL
PEPARTMENT OF ENGLISH, ADD ON COURSE 202223

COMMUNICATION SKILLS IN ENGLISH
TIME 1 Houg MARKS: 50 M
Name of the stugent Class & year:

Multiple Cholce Questions:

1. The origin of the word
Communicate

B Communicare

C) Compute

D) Computer

Communication is

2. The first langua
A) Jargon

B) Dialect

C) Mother Tongue
D) Vernacular

ge which we learn or speak as a child

3. By what method we can know what the receiver understood or got the message
A) transmitting

B) feedback
C) message
D) listening

4. What is a sentence?

A) A group of ideas.

B) A group of words that communicate a complete thought.
C) A set of rules to write correctly.

D) A set of words that is grammatically correct

5. Which of the following is NOT a communication barrier?
A) Linguistic barrier

B) Interpersonal barrier

C) Financial barrier

D) Organisational barrier

6. Which of the following is not an element of the Communication cycle?
A) Channel

B) Receiver
C) Time
D) Sender
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B) Listening
C) Message
D) Feedback

B Which of th i
e following is ¢
! _ S QUICK Mrd claar rreth f cammunicatinn
A) e-mail e e
B) notices/posters
C) face-to-face informal COMMIUNICAtIvn
D) business meetings |

9 The word ‘Commiinicire’ means in Latin
A) to deliver
B) to share

C) to present
D) to sacrifice

10. What is the final step in the communication cycle?
A) Encoding

B) Decoding

C) Feedback
D) Receiving
11. I refused to the performance evaluation because there was false
information in it

a. Accept b. Except

wrong

c. Both A & B are correct d.Both A &B are

been to Wales knows how beautiful the countryside is
c.botha&B d. None of them.

12. Anyone
a. who's b. whose

13. find the correct spelt word.
a. Adulterate b. Adeldurate c. Adulterat d. Adultarate

14. Find the correct spelt word
a. adverisity b. Advercety c. Adversity d. Advercity

15. Find the correct spelt word.

a. Centrfuge  b. centrifuse c. centifue d. centrifuge

16.There was some _______ agreement over the topic.

a. dis b.Mis c.Un d. Anti
17. Which of these prefixes means ‘below'?
a. under b. pre c.over d.here

m ™~ e W cEs AR
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It the tettes jrv 1siee

a Signature b Name ¢ D& iegrs ¥t ioyr 5
W A AN of taaa

20 The key point of a farmnl e e 16 WEITen ies sithsiedh
Y N o f'-"'. -\',1. Ar,"_“ “ lwttasd

A Intro B Heading © Subject o Boely

21 What is the correct way 10 write the subscription in a farmal letter?

a Yours Truly b Yourtruly d You truly  d done

22. Which of the following is not a part of a letter to editor?
a Date b. Subject c. Salutation D. Photo

23. Minutes of meeting is written in
a. school b. College c. office d. all of these.
24. How should the subject line be?

a. Long and descriptive b. Short and precise c. A greeting d. Does not matter

25. It is important to read the email completely before responding.

a. Only if you have time b. Not important at all c. Always d. Only if it is from seniors
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TELANGANA S 1K
OCIAL WELFARE RESIDENTIAL DEGREF COLLEGE FOR WOMEN ~ MANCHERIAL
ADD ON COURSE- "MOHANDAS KARAMCHAND GANDHI”

DEPARTMENT OF HISTORY

ASSESSMENT QUESTION PAPER
H.T.N.O: MARIKS: 20

NAME: [IMI ;10 minutes

Choose the correct answer

1. Who among the following was political mentor of Mahatma Gandhi?
a. Pherozesha Mehta
b. Gopal Krishna Gokhale
c. Aurobindo Ghosh
d. None of the above
2. What is the Autoblography of Mahatma Gandhi?
a. Sarvodaya
b. My Experments with Truth
c. My Story
d. My life
3. Which Congess session presided by Gandhi?
a. Belgaum
b. Bengal
c. Surath
d. Lahor
When was started All India Harijan Sama] by Gandhl ji?
a. 1930
b. 1931
c. 1932

d. 1940 )
5. Who called first time as “Mahatma’’?

a. Ravindranath Tagor
b. Vallabhai Patel
c. JLNehru
d. Gokhale

6. When was the Gandhl -
a. Marchl, 1932
b. March5,1931

Irwin Pact signed?
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C. March 10,1935
d. March 7,1937

7. Which of the foIlowing did g
d. Ahimsga and peace
b. Truth and peace
c. Brahmacharya and Aparigraha
d. Ahimsa and Truth

8. What was the profession of Gandhiji’s father?
a. Diwan

b. Farmer
C.  Shopkeeper
d. Tehsildar
9. At which place was Gandhi ji born?
a. Porbandhar

andhi ji describes as his two lungs?

b. Rajkot
C. Ahmedabad
d. Delhj

10. Why abandoned the Kaiser-I-Hind by Gandhi ji?
a. Swadeshi movement
b. Home Rule movement
C. Quit India movemen
d. Jaliyanwala bhag massacre
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